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ST. ANDREW'S JUNIOR SCHOOL
PRIMARY 1 MATHEMATICS 2014
Review 2

Parent’s Signafure:

Primary 1 —__

Section A : Muliiple Choice Questions (2 marks each)

Marks:

For each question, four options are given. One of them is the correct answer.

Date:

60

Make your choice (1, 2, 3 or 4) and write your answer in the brackets provided.

1) What is the time shown on the clock? -

(1)
2)
(3)
(4)

6 o'clock
12 o'clock
Half past 6
Half past 12
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2) Thesumof68and32is

3)

(1)
2)
(3)
(4)

20
30
90
100 ( )

(1) 4x5

{(2) 5x5

3y 5+5+5

4y 4+4+4+4 ( )
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Look at the pictures above and choose the correct subtraction

aguation.

1y 8-5

(2} 9-6

3y 13-5 :

(4y 13-7 ( )
By 94, , 74,64, , 44

The missing number are

{1} 95and 65
(2} 93and63
{3) B84 andb4
(4) 75and4b ( )

Section B (2 marks each)

Show your working clearly in the space below for each question and write your
sriswers in the boxes provided. '

L)

4} Write 87 in words.
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8)

The picture graph below shows the number of bicycles that a class

of 14 boys have.
Study the graph carefully and answer Questions 7 and 8.

Bicycles

Red

Blue

Eachi

’ stands for 1 bicycle.

The most popular colour is _
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9) Look at the pictures. Then fill in the place value chart.

1
[] Tens | Ones
]

ENEANENENN

LTt L

AEENEEREEE

(TTIITTLIT]

EERNREREEN

HERERRNEER
EERENENEEE

10} Circle the dotted cards to show the sum of 27.
OO ||000 O OO0O0| [OOO0O
C O Q00O OO00 | |00

11) 50 - =44

12) Circle the picture to show T-groups of 3.
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13) 4 5 14) 6 9
+ 3 4 + 2 7
15) 9 8 16) 7 2
- 5 1 - 4 6

17) The clock face below shows the time that Mr Wang had his dinner.

- What time is it?

Mr Wang had his dinner at half past

18) Willy reaches-home at 2 o’clock. Draw the minute hand to show 2 o'clock.-
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19) Arrange the numbers from the greatest to the smallest.

87, 75, 58, 78

). ]

(greatest)

20) There are 12 palls.
John puts them equally into 3 groups.

Draw an equal number of balls in each group.

SISIOISISIS
SISOLSISTS
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21)
22)

23)

24)

Look at the diagram below and answer questions 21 — 24.

X C

The étapier is paper clips long.

The key is paper clips shorter than the pencil.

The total length of the pencil, stapler and key is
tong.

Arrange the items from the shortest to the longest.

LR ——

paper clips

(shortest)
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Section €

Show your working clearly in the space below for each guestion.

Label the given models and write the numbers in the brackets.

Wiite your number sentence and word statement for each question.

25) Ms Tan bought 29 pencils on Monday.
She bought 12 more pencils on Tuesday.
How many pencils did she buy on Tuesday? (3m)

( ) ¢ )

A A
s ~ ~
V
( )
Ms Tan bought pencits on Tuesday;
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26) Alihas 45 erasers.
Mike has 20 fewer erasers than Al
How many erasers does Mike have? (3m)

{ )
/7 A ™
( )
N —
v
( }
Mike has grasers.

27) Ms Nora gave 5 boys some sweets.
She gave each boy 3 sweets.
How many sweets did she give altogether? {2m)

OL 1O

Ms Nora gave sweels altogether.
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28) Mdm Tork gave 20 lollipops to some pupils.

a) If each pupil received 2 lollipops.
How many.pupils are there?
Circle to show the number of pupils. (2m)

| | |

There are pupils.

b) If each pupil received 5 oliipops.
How many pupils are there?
Circle to show the number of pupils. (2m)

There are pupils.

End of Paper
Have you checked your work?
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Year: 2014

Level: P1

School: St Andrews Junior School
Subject: Mathematics

Semester: Review 2

{m Q2 Q3

Q4

Qs

l4 4 1

QB) eighty-seven
Q79
Q38) Green

Q9) Tens Ones

Q13) 79
Q14) 96
Q15) 47
Q16) 26
Q17)6

363



Q19) 87, 78, 75, 58

Q20)
O O O O 0 O
O O O O o ©
Q21) 2
22y 4
Q23) 8
Q24) Key, Stapler, Pencil
29 ) 12
QZS) AL o e -
-
?

21+12 = 41
Ms Tan bought 41 pencils on Tuesday.

Q26)
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Mike 20
e N
|~ —‘\

Al

R 7

—
' 45

45 - 20=25

Mika has 25 erasers.

027) 5x3=15

Ms Nora gave 15 sweets altogether.

There are 10 pupils.

Q28b)

There are 4 pupils.
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